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Decision/action requested

Discuss and agree the proposal
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Background
3GPP SA5 has defined counters in 32.425[2] for problem detection for MRO cases based on MRO definiton in 36.300[1]. The counter defined for HWC (Handover to Wrong Cell) case is unclear yet about which Neighbour Relation the measured EUtranRelation stands for in the HWC case.

SA5 asked RAN3 in LS S5-143322 [3] to provide clarifications for the following question : 
Per the definition, HWC is described as following:

“An RLF occurs shortly after a successful handover from a source cell (Cell A) to a target cell (Cell B) or a handover failure occurs during the handover procedure; the UE attempts to re-establish the radio link connection in a cell (Cell C) other than the source cell and the target cell”, see [1] (Figure 1).
To indicate the problems for this HWC case, it needs to be known that which neighbour relation of cell A to cell B and cell A to cell C may be guilty, hence the counters measuring on that neighbour relation can be made to reflect it.

So the question to RAN3 is that, in the HWC (A(B(C) case mentioned above, which one of the neighbour relation from cell A to cell B and from cell A to cell C may be problematic, or both?

The answer provided by RAN3 in LS R3-142080 [4] is as following:

A1:
In the given example, the failure detected by MRO occurred in the A-B relation. The eNB may choose to apply a correction to relation A-B, to relation A-C or to both. 
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Proposal
Based on the answer from RAN3 as above, for a HWC case the correction may be made at NR A-B, NR A-C or both, that means either or both of the NRs may be problematic. It is suggested to make the following changes regarding HWC counters:
· Clarify the existing counter HO.OutFail.ToWrongCell to be for NR A-B in HWC case;
· Add a counter for NR A-C in HWC.
The concrete proposal is in CR S5-151112.












